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0HQLPEDQJ� �� D�� EDKZD� � SHQXQDLDQ� ]DNDW� PHUXSDNDQ� NHZDMLEDQ� 8PDW� ,VODP�
\DQJ�PDPSX���GDQ���+DVLO���3HQJXPSXODQ���=DNDW���PHUXSDNDQ����
VXPEHU� GDQD� � \DQJ� SRWHQVLDO� EDJL� XSD\D� PHZXMXGNDQ�
NHVHMDKWHUDDQ�PDV\DUDNDW����

���������� ���� E���EDKZD� � SHQJHORODDQ� � ]DNDW�� � LQIDT� GDQ� VKDGDTRK� SHUOX� WHUXV�
GLWLQJNDWNDQ��DJDU��SHODNVDQDDQ��]DNDW��OHELK��EHUKDVLO�JXQD�GDQ�
EHUGD\D�JXQD�VHUWD�GDSDW��GLSHUWDQJJXQJMDZDENDQ���

� � F�� EDKZD��GDODP�UDQJND�SHUOLQGXQJDQ��SHPELQDDQ�GDQ�SHOD\DQDQ�
PX]DNNL�� � PXVWDKLN� GDQ� DPLO� � ]DNDW� � VHUWD� � PDNVXG� � � SDGD���
KXUXI�D�GDQ�E�GL�DWDV��GLSHUOXNDQ�SHQJHORODDQ�]DNDW��LQIDT��GDQ�
VKDGDTRK� GL� .RWD� &LOHJRQ�� \DQJ� GLDWXU� GDQ� GLWHWDSNDQ� GDODP�
3HUDWXUDQ�'DHUDK��������

0HQJLQJDW��� ��� ��� 8QGDQJ�XQGDQJ��1RPRU�����7DKXQ������WHQWDQJ�+XNXP�$FDUD�
3LGDQD� �/HPEDUDQ� � 1HJDUD� � 7DKXQ� � ����� � 1RPRU� � ����
7DPEDKDQ�/HPEDUDQ��1HJDUD���1RPRU���������

��� 8QGDQJ�XQGDQJ� 1RPRU� ��� 7DKXQ� ����� WHQWDQJ� 3HPEHQWXNDQ�
.RWDPDG\D� 'DHUDK� 7LQJNDW� ,,� 'HSRN� GDQ� .RWDPDG\D� 'DHUDK�
7LQJNDW��,,��&LOHJRQ��/HPEDUDQ�1HJDUD�7DKXQ������1RPRU�����
7DPEDKDQ�/HPEDUDQ�1HJDUD�1RPRU���������

�
���8QGDQJ�����

�



 ������

���8QGDQJ�XQGDQJ�1RPRU����7DKXQ�������WHQWDQJ��3HPHULQWDKDQ��
'DHUDK����/HPEDUDQ��1HJDUD�7DKXQ������1RPRU�����7DPEDKDQ��
/HPEDUDQ��1HJDUD��1RPRU����������

��� 8QGDQJ�XQGDQJ� � 1RPRU� � ��� 7DKXQ� ����� WHQWDQJ� 3HQJHORODDQ�
=DNDW� � �/HPEDUDQ�1HJDUD� 7DKXQ������1RPRU� ����� 7DPEDKDQ��
/HPEDUDQ��1HJDUD���1RPRU����������

���8QGDQJ�XQGDQJ��1RPRU�������7DKXQ��������WHQWDQJ��3HUXEDKDQ�
.HWLJD� 8QGDQJ�XQGDQJ� 1RPRU� �� 7DKXQ� ����� WHQWDQJ� 3DMDN�
3HQJKDVLODQ� �/HPEDUDQ� 1HJDUD� 7DKXQ� ����� 1RPRU� �����
7DPEDKDQ��/HPEDUDQ��1HJDUD���1RPRU����������

��� 3HUDWXUDQ� � 3HPHULQWDK� � 1RPRU� ��� 7DKXQ� ����� WHQWDQJ�
.HZHQDQJDQ� 3HPHULQWDK� GDQ� .HZHQDQJDQ� 3URSLQVL� 6HEDJDL�
'DHUDK�2WRQRP��/HPEDUDQ�1HJDUD� �7DKXQ� ������ �1RPRU�������
7DPEDKDQ���/HPEDUDQ��1HJDUD��1RPRU����������

���3HUDWXUDQ��'DHUDK�.RWD��&LOHJRQ��1RPRU�����7DKXQ������WHQWDQJ�
7DWD�&DUD�GDQ�7HNQLN�3HQ\XVXQDQ�5DQFDQJDQ�3HUDWXUDQ�'DHUDK�
�/HPEDUDQ�'DHUDK�7DKXQ�������1RPRU������

�
'HQJDQ��SHUVHWXMXDQ�
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3DVDO�����

'DODP��3HUDWXUDQ��'DHUDK��LQL���\DQJ��GLPDNVXG��GHQJDQ�����
�� ³'DHUDK´�DGDODK�.RWD�&LOHJRQ���
�� ³'35'´�DGDODK�'HZDQ�3HUZDNLODQ�5DN\DW�'DHUDK�.RWD�&LOHJRQ���
�� ³3HPHULQWDK��'DHUDK´�DGDODK��:DOLNRWD��EHVHUWD��3HUDQJNDW��'DHUDK�2WRQRP�\DQJ�

ODLQ�VHEDJDL�%DGDQ�(NVHNXWLI�'DHUDK���
�� ³:DOLNRWD´�DGDODK�:DOLNRWD�&LOHJRQ���
�� ³%DGDQ� � $PLO� =DNDW� \DQJ� VHODQMXWQ\D� GLVHEXW� %$=´� DGDODK� RUJDQLVDVL� � SHQJHOROD��

]DNDW�\DQJ�GLEHQWXN�ROHK�3HPHULQWDK�'DHUDK��\DQJ�WHUGLUL�GDUL�XQVXU�PDV\DUDNDW�
GDQ� 3HPHULQWDK� 'DHUDK� GHQJDQ� WXJDV� PHQJXPSXONDQ�� PHQGLVWULEXVLNDQ� GDQ�
PHQGD\DJXQDNDQ�]DNDW�VHVXDL�GHQJDQ�NHWHQWXDQ�DJDPD���

���³/HPEDJD�����



 ������

�� ³/HPEDJD�$PLO��=DNDW�\DQJ�VHODQMXWQ\D�GLVHEXW�/$=´�DGDODK�LQVWLWXVL�SHQJHORODDQ�
]DNDW�\DQJ�VHSHQXKQ\D�GLEHQWXN�DWDV�SUDNDUVD�PDV\DUDNDW�GDQ�ROHK�PDV\DUDNDW�
\DQJ� EHUJHUDN� GL� ELGDQJ� � GD¶ZDK�� � SHQGLGLNDQ�� � VRVLDO� � GDQ� NHPDVODKDWDQ�8PDW�
,VODP���

�� ³8QLW� 3HQJXPSXO� =DNDW´� DGDODK� VDWXDQ� RUJDQLVDVL� \DQJ� GLEHQWXN� ROHK� %$=� GL�
VHPXD� WLQJNDWDQ� GHQJDQ� WXJDV� PHQJXPSXONDQ� ]DNDW� XQWXN� PHOD\DQL� PX]DNNL��
\DQJ�EHUDGD�SDGD�GHVD�NHOXUDKDQ�� LQVWDQVL�LQVWDQVL� 3HPHULQWDK�GDQ� VZDVWD�� EDLN�
GDODP�QHJHUL�PDXSXQ�OXDU�QHJHUL����

�� ³3HQJHORODDQ�=DNDW´�DGDODK�NHJLDWDQ�SHUHQFDQDDQ��SHQJRUJDQLVDVLDQ��SHODNVDQDDQ�
GDQ�SHQJDZDVDQ�WHUKDGDS�SHQGLVWULEXVLDQ�GDQ�SHQGD\DJXQDDQ�]DNDW������

�� ³=DNDW´� DGDODK� � +DUWD� � \DQJ� :DMLE� GLVLVLKNDQ� �� GLNHOXDUNDQ� �� GLWXQDLNDQ� ROHK�
VHRUDQJ� PXVOLP� DWDX� EDGDQ� \DQJ� GLPLOLNL� ROHK� RUDQJ� PXVOLP� VHVXDL� GHQJDQ�
NHWHQWXDQ�DJDPD��XQWXN�GLEHULNDQ�NHSDGD�\DQJ�EHUNHZDMLEDQ�PHQHULPD�]DNDW�����

��� ³0X]DNNL´� DGDODK� � RUDQJ� DWDX� EDGDQ� \DQJ� GLPLOLNL� ROHK� RUDQJ� PXVOLP� \DQJ�
EHUNHZDMLEDQ�PHQXQDLNDQ�]DNDW����

��� ³0XVWDKLN´��DGDODK��RUDQJ��DWDX��EDGDQ�\DQJ��EHUKDN��PHQHULPD��]DNDW���
��� ³$JDPD´�DGDODK��$JDPD��,VODP���
��� ³%DGDQ��3HODNVDQD��%$=´��DGDODK��OHPEDJD��SHODNVDQD��SHQJHORODDQ�]DNDW����
��� ³'HZDQ� 3HUWLPEDQJDQ� %$=´� DGDODK� OHPEDJD� \DQJ� PHPEHULNDQ� � SHUWLPEDQJDQ��

NHSDGD�EDGDQ�SHODNVDQD�%$=���
��� ³.RPLVL� 3HQJDZDV� %$=´� DGDODK� OHPEDJD� \DQJ� PHODNVDQDNDQ� SHQJDZDVDQ��

WHUKDGDS� � SHODNVDQDDQ� � WXJDV� DGPLQLVWUDWLI� GDQ� WHNQLV� SHQJXPSXODQ��
SHQGLVWULEXVLDQ�� SHQGD\DJXQDDQ� ]DNDW� VHUWD� SHQHOLWLDQ� GDQ� SHQJHPEDQJDQ�
SHQJHORODDQ�]DNDW���

��� ³6KDGDTRK´� DGDODK� KDUWD� \DQJ� GLNHOXDUNDQ� VHRUDQJ� PXVOLP� DWDX� EDGDQ� \DQJ�
GLPLOLNL�ROHK�RUDQJ�PXVOLP��GL�OXDU�]DNDW�XQWXN�NHPDVODKDWDQ�XPXP���

��� ³+LEDK´�DGDODK�SHPEHULDQ�XDQJ�DWDX�EDUDQJ�ROHK�VHRUDQJ�DWDX�ROHK�EDGDQ�\DQJ�
GLODNVDQDNDQ�SDGD�ZDNWX�RUDQJ�LWX�PDVLK�KLGXS�NHSDGD�%$=�DWDX�/$=����

��� ³:DVLDW´� DGDODK� SHVDQ� XQWXN�PHPEHULNDQ� VXDWX� EDUDQJ� NHSDGD� %$=� DWDX� /$=� ��
SHVDQ� LWX� EDUX� GLODNVDQDNDQ� VHVXGDK� SHPEHUL� ZDVLDW� � PHQLQJJDO� � GXQLD� GDQ�
VHVXGDK�GLVHOHVDLNDQ�SHQJXEXUDQQ\D�GDQ�SHOXQDVDQ�XWDQJ�XWDQJQ\D��MLND�DGD���

��� ³.DIDUDW´� DGDODK� GHQGD� ZDMLE� \DQJ� GLED\DU� NHSDGD� %$=� DWDX� /$=� ROHK� \DQJ�
PHODQJJDU�NHWHQWXDQ�DJDPD����
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3DVDO�����
��� 'HQJDQ� QDPD� SHQJHORODDQ� ]DNDW�� LQIDT� GDQ� VKDGDTRK� GLDWXU� NHJLDWDQ�

SHUHQFDQDDQ�� SHQJRUJDQLVDVLDQ�� SHODNVDQDDQ� GDQ� SHQJDZDVDQ� WHUKDGDS�
SHQJXPSXODQ� GDQ� SHQGLVWULEXVLDQ� VHUWD� SHQGD\DJXQDDQ� ]DNDW�� LQIDT� � GDQ�
VKDGDTRK���

��� 2E\HN�]DNDW��LQIDT�GDQ�VKDGDTRK�DGDODK�]DNDW��LQIDT�GDQ�VKDGDTRK�\DQJ�GLEHULNDQ�
VHVXDL�GHQJDQ�NHWHQWXDQ�DJDPD����

��� 6XE\HN� � ]DNDW�� � LQIDT� �GDQ� � VKDGDTRK� �DGDODK� �RUDQJ� ,VODP� �DWDX� �EDGDQ� �PLOLN��
RUDQJ��,VODP���

3DVDO����
��� %HVDUQ\D�]DNDW�ILWUDK��PDDO��KDUWD��GDQ�SURIHVL�VHVXDL�GHQJDQ�NHWHQWXDQ�DJDPD����
��� %HVDUQ\D� � ]DNDW� � ILWUDK�� PDDO� �KDUWD�� GDQ� SURIHVL� GLWHWDSNDQ� GHQJDQ� .HSXWXVDQ�

:DOLNRWD�EHUGDVDUNDQ�XVXODQ�EDGDQ�SHODNVDQD�%$=��.RWD��&LOHJRQ��
�

%$%��,,,�
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3DVDO����

��� 3HQJHOROD�]DNDW��LQIDT�GDQ�VRGDTRK�DGDODK�%$=��GDQ��/$=���
��� %$=��GDQ�/$=�GLPDNVXG��D\DW���������GL�DWDV��DGDODK���

D� %$=�GDQ�/$=�.RWD��&LOHJRQ���
E� %$=�GDQ�/$=�.HFDPDWDQ��

3DVDO����
��� 3HQJXPSXODQ��]DNDW��LQIDT��GDQ��VKDGDTRK��GLODNXNDQ��ROHK�%$=�GDQ��/$=��GHQJDQ��

FDUD���
D� PHQHULPD�DWDX�PHQJDPELO�GDUL�PX]DNNL�DWDV�GDVDU�SHPEHULWDKXDQ�PX]DNNL����
E� %$=� � DWDX� � /$=� � GDSDW� EHNHUMDVDPD�GHQJDQ�EDQN�GDODP�SHQJXPSXODQ� ]DNDW�

KDUWD�PX]DNNL�\DQJ�EHUDGD�GL�EDQN�DWDV�SHUPLQWDDQ��PX]DNNL��
��� 0X]DNNL� PHODNXNDQ� SHUKLWXQJDQ� VHQGLUL� KDUWDQ\D� GDQ� NHZDMLEDQ� ]DNDWQ\D���

EHUGDVDUNDQ� � KXNXP� � DJDPD� � GDQ� � GDODP� KDO� WLGDN� GDSDW� PHQJKLWXQJ� � VHQGLUL��
KDUWDQ\D��GDQ��NHZDMLEDQ��]DNDWQ\D�VHEDJDLPDQD��GLPDNVXG��D\DW��������PX]DNNL��
GDSDW� � PHPLQWD� EDQWXDQ� NHSDGD� %$=� DWDX� %$=�PHPEHULNDQ� � EDQWXDQ� � NHSDGD��
PX]DNNL��XQWXN��PHQJKLWXQJQ\D���

����=DNDW�����



 ������

��� =DNDW� � \DQJ� � WHODK� � GLED\DUNDQ� � NHSDGD� � %$=� DWDX� /$=� � GLNXUDQJNDQ� � GDUL��
ODED�SHQGDSDWDQ� VLVD� NHQD� SDMDN� GDUL� ZDMLE� SDMDN� \DQJ� EHUVDQJNXWDQ� VHVXDL�
GHQJDQ�SHUDWXUDQ�SHUXQGDQJ�XQGDQJDQ��\DQJ�EHUODNX���

��� %$=�DWDX�/$=�GDSDW�PHQHULPD�KDUWD�VHODLQ�]DNDW��VHSHUWL� LQIDT��VKDGDTRK��KLEDK��
ZDVLDW��ZDULV�GDQ�NDIDUDW��

3DVDO����
%$=� .RWD� &LOHJRQ� PHQJXPSXONDQ� ]DNDW� GDUL� PX]DNNL� � SDGD� LQVWDQVL� �� OHPEDJD�
3HPHULQWDK�GDQ�VZDVWD�SHUXVDKDDQ�SHUXVDKDDQ�GL�.RWD��&LOHJRQ��

�
%$%���,9�
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3DVDO����

��� 3HQGD\DJXQDDQ� � KDVLO� � SHQJXPSXODQ� � ]DNDW� � XQWXN� � PXVWDKLN� GLODNXNDQ��
EHUGDVDUNDQ��SHUV\DUDWDQ��VHEDJDL��EHULNXW����
D� KDVLO�SHQGDWDDQ�GDQ�SHQHOLWLDQ�NHEHQDUDQ�PXVWDKLN�GHODSDQ�DVQDI��\DLWX��IDNLU��

PLVNLQ��DPLO��PXDOODI��ULTDE��JKDULP��VDELOLOODK��GDQ��LEQXVVDELO����
E� PHQGDKXOXNDQ� RUDQJ�RUDQJ� \DQJ� SDOLQJ� WLGDN� EHUGD\D� PHPHQXKL� NHEXWXKDQ�

GDVDU�VHFDUD�HNRQRPL�GDQ�VDQJDW�PHPHUOXNDQ�EDQWXDQ����
F� PHQGDKXOXNDQ�PXVWDKLN�GDODP�ZLOD\DKQ\D�PDVLQJ�PDVLQJ��

��� 3HQGD\DJXQDDQ� KDVLO� SHQJXPSXODQ� ]DNDW� XQWXN� XVDKD� \DQJ� 3URGXNWLI� GLODNXNDQ�
EHUGDVDUNDQ�SHUV\DUDWDQ�VHEDJDL�EHULNXW����
D� DSDELOD� � � SHQGD\DJXQDDQ� � ]DNDW� � VHEDJDLPDQD� � � � GLPDNVXG� � D\DW� ���� VXGDK�

WHUSHQXKL�GDQ�WHUQ\DWD�PDVLK�WHUGDSDW�NHNXUDQJDQ���
E� WHUGDSDW��XVDKD�XVDKD��Q\DWD��EHUSHOXDQJ��PHQJXQWXQJNDQ���
F� PHQGDSDW�SHUVHWXMXDQ�WHUWXOLV�GDUL�GHZDQ�SHUWLPEDQJDQ���
G� PXVWDKLN�GL\DNLQL�GDSDW�PHODNXNDQ�XVDKD��XVDKD�SURGXNWLI����

3DVDO����
3URVHGXU� SHQGD\DJXQDDQ� KDVLO� SHQJXPSXODQ� ]DNDW�� LQIDT� GDQ� VKDGDTRK� XQWXN� XVDKD�
SURGXNWLI�GLWHWDSNDQ�VHEDJDL�EHULNXW���
D� PHODNXNDQ�VWXG\�NHOD\DNDQ���
E� PHQHWDSNDQ�MHQLV�XVDKD�SURGXNWLI���
F� PHODNXNDQ�ELPELQJDQ�GDQ�SHQ\XOXKDQ���
G� PHODNXNDQ�SHPDQWDXDQ��SHQJHQGDOLDQ�GDQ�SHQJDZDVDQ���
H� PHQJDGDNDQ�HYDOXDVL����
I� PHPEXDW�ODSRUDQ��

3DVDO�����



 ������

3DVDO����
+DVLO� SHQHULPDDQ� ]DNDW�� LQIDT�� VKDGDTRK�� KLEDK�� ZDVLDW�� ZDULV� GDQ� NDIDUDW�
GLGD\DJXQDNDQ� WHUXWDPD� XQWXN� XVDKD� SURGXNWLI� VHWHODK� PHPHQXKL� SHUV\DUDWDQ�
VHEDJDLPDQD�GLPDNVXG�3DVDO���3HUDWXUDQ�'DHUDK�LQL�� �

�
%$%���9�

3(0%(178.$1��%$=��'$1��/$=�
3DVDO�����

��� %$=� .RWD� &LOHJRQ� GLEHQWXN� � ROHK� 3HPHULQWDK� 'DHUDK� \DQJ� WHUGLUL� GDUL� XQVXU�
3HPHULQWDK�GDQ�PDV\DUDNDW���

��� /$=� GLEHQWXN� ROHK� PDV\DUDNDW� \DQJ� GLNXNXKNDQ�� GLELQD� GDQ� GLOLQGXQJL� � ROHK��
3HPHULQWDK��

��� 'DODP� � PHODNVDQDNDQ� � WXJDVQ\D� � %$=� � GDQ� /$=� EHUWDQJJXQJ� MDZDE� NHSDGD�
:DOLNRWD���

��� %$=�GDQ�/$=�.RWD�&LOHJRQ�GDSDW�PHPEHQWXN�XQLW�SHQJXPSXO� � ]DNDW� �GL�ZLOD\DK�
3HPHULQWDK�.RWD�&LOHJRQ���

��� 0DVD� WXJDV� NHDQJJRWDDQ�%$=�DGDODK��� �WLJD�� WDKXQ�GDQ�GDSDW� GLDQJNDW� NHPEDOL�
KDQ\D�XQWXN�VDWX�NDOL�SHULRGH�EHULNXWQ\D���

�
%$%���9,�

0(.$1,60(�3(0%(178.$1��%$=�'$1�/$=�
3DVDO�����

��� %$=� .RWD� &LOHJRQ� GLEHQWXN� GHQJDQ� .HSXWXVDQ� :DOLNRWD�� \DQJ� VXVXQDQ�
NHSHQJXUXVDQQ\D� GLXVXONDQ� ROHK� .HSDOD� .DQWRU� � � 'HSDUWHPHQ� � $JDPD� � .RWD�
&LOHJRQ���

��� 6XVXQDQ�NHSHQJXUXVDQ�VHEDJDLPDQD�GLPDNVXG�SDGD�D\DW�����WHUGLUL�DWDV���
%DGDQ� SHODNVDQD�� GHZDQ� SHUWLPEDQJDQ� GDQ� NRPLVL� SHQJDZDV� \DQJ��
NHDQJJRWDDQQ\D� � GLXVXONDQ� � NHSDGD� � :DOLNRWD� VHWHODK� PHODOXL� WDKDSDQ�WDKDSDQ�
VHEDJDL�EHULNXW�����
D� 0HPEHQWXN��WLP��SHQ\HOHVDLDQ��\DQJ��WHUGLUL��GDUL���XQVXU��XODPD���FHQGLNLDZDQ���

WHQDJD��SURIHVLRQDO���SUDNWLVL��SHQJHORODDQ�]DNDW�GDQ��/60��\DQJ��WHUNDLW��VHUWD��
XQVXU��3HPHULQWDK�'DHUDK���

E� PHQ\XVXQ�NULWHULD�FDORQ�SHQJXUXV�%$=�.RWD�&LOHJRQ���
F� PHPSXEOLNDVLNDQ���UHQFDQD���SHPEHQWXNDQ��%$=����.RWD��&LOHJRQ��VHFDUD��OXDV��

NHSDGD�PDV\DUDNDW���
G� PHODNXNDQ� SHQ\HOHVDLDQ� WHUKDGDS� FDORQ� SHQJXUXV� %$=� .RWD� &LOHJRQ� VHVXDL�

GHQJDQ�NHDKOLDQQ\D��
����D��/$=�����



 ������

���� D�� /$=� DGDODK� LQVWLWXVL� SHQJHORODDQ� ]DNDW� \DQJ� VHSHQXKQ\D� GL� EHQWXN� DWDV�
SUDNDUVD� PDV\DUDNDW� GDQ� ROHK� PDV\DUDNDW� \DQJ� EHUJHUDN� � GLELGDQJ� GD¶ZDK��
SHQGLGLNDQ��VRVLDO�GDQ�NHPDVODKDWDQ�XPDW�,VODP���

E�� 3HQJXNXKDQ�/$=�GLODNXNDQ�ROHK�3HPHULQWDK�'DHUDK�GHQJDQ�FDUD�PHQJDMXNDQ�
SHUPRKRQDQ� NHSDGD� 3HPHULQWDK� GHQJDQ� PHODPSLUNDQ� V\DUDW�V\DUDW� VHEDJDL�
EHULNXW���
�� DNWH�SHQGLULDQ��EHUEDGDQ�KXNXP����
�� GDWD�PX]DNNL�GDQ�PXVWDKLN���
�� GDIWDU�VXVXQDQ�SHQJXUXV���
�� UHQFDQD� � SURJUDP� NHUMD� MDQJND� SHQGHN�� MDQJND� PHQHQJDK� GDQ� MDQJND�

SDQMDQJ���
�� QHUDFD�DWDX�ODSRUDQ�SRVLVL�NHXDQJDQ���
�� VXUDW�SHUQ\DWDDQ�EHUVHGLD�XQWXN�GL�DXGLW��

F�� /$=��\DQJ��WHODK�GLNXNXKNDQ�PHPLOLNL�NHZDMLEDQ�VHEDJDL�EHULNXW���
�� VHJHUD�PHODNXNDQ�NHJLDWDQ�VHVXDL�GHQJDQ�SURJUDP�NHUMD�\DQJ�WHODK�GLEXDW�

��
�� PHQ\XVXQ�ODSRUDQ�WHUPDVXN�ODSRUDQ�NHXDQJDQ���
�� PHPSXEOLNDVLNDQ� ODSRUDQ� NHXDQJDQ� \DQJ� WHODK� GL� DXGLW� PHODOXL� PHGLD�

PDVVD���
�� PHQ\HUDKNDQ�ODSRUDQ�NHSDGD�3HPHULQWDK���

G� /$=�\DQJ�WHODK�GLNXNXKNDQ�GDSDW�GLWLQMDX�NHPEDOL��DSDELOD�WLGDN�ODJL�PHPHQXKL�
SHUV\DUDWDQ� GDQ� WLGDN� PHODNVDQDNDQ� NHZDMLEDQ� VHEDJDLPDQD� \DQJ� WHODK�
GLWHQWXNDQ���

H� 0HNDQLVPH� SHQLQMDXDQ� XODQJ� WHUKDGDS� /$=� GLODNXNDQ� PHODOXL� WDKDSDQ�
SHPEHULDQ� SHULQJDWDQ� VHFDUD� WHUWXOLV� VDPSDL� �� �WLJD�� NDOL� GDQ� EDUX� GLODNXNDQ�
SHQFDEXWDQ�SHQJXNXKDQ���

I� 3HQFDEXWDQ� SHQJXNXKDQ� /$=� GDSDW� PHQJKLODQJNDQ� KDN� SHPELQDDQ��
SHUOLQGXQJDQ� � GDQ� SHOD\DQDQ� GDUL� PDV\DUDNDW�� WLGDN� GLDNXLQ\D� EXNWL� VHWRUDQ�
]DNDW�\DQJ�GLNHOXDUNDQ�VHEDJDL�SHQJXUDQJDQ�SHQGDSDWDQ�NHQD�SDMDN�GDQ�WLGDN�
GDSDW�PHODNXNDQ�SHQJXPSXODQ�GDQD�]DNDW��

�
�
�
�

%$%�����
�
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%DJLDQ��3HUWDPD�
%DGDQ��3HODNVDQD�

3DVDO�����
��� %DGDQ�SHODNVDQD� �%$=� �PHUXSDNDQ�EDGDQ�HNVHNXWLI� \DQJ�GLSLOLK�GDQ� �GLWHWDSNDQ��

GHQJDQ��.HSXWXVDQ��:DOLNRWD���
��� 0HQ\HOHQJJDUDNDQ� � WXJDV� � DGPLQLVWUDWLI� � GDQ� � WHNQLN� � SHQJXPSXODQ���

SHQGLVWULEXVLDQ��GDQ��SHQGD\DJXQDDQ�]DNDW�GHQJDQ�ULQFLDQ�VHEDJDL�EHULNXW����
D� PHQHWDSNDQ�VWUDWHJL�NHELMDNDQ�GDQ�NHWHQWXDQ�SHQJHORODDQ�%$=��
E� PHPSHUVLDSNDQ�ELD\D�RSHUDVLRQDO�WDKXQDQ�%$=���
F� PHQJDGDNDQ� � UDSDW� � SOHQR� �%$=� � VHNXUDQJ� �� NXUDQJQ\D��� � �VDWX�� NDOL� GDODP�

VHWDKXQ���
G� PHPEXD�W�ODSRUDQ�WDKXQDQ�SHODNVDQDDQ�WXJDV�EDGDQ�SHODNVDQD�NHSDGD�'35'�

.RWD�&LOHJRQ�GDQ�:DOLNRWD���
H� PHQJDGDNDQ�5$.25'$�%$=�VHVXDL�NHEXWXKDQ����
I� PHUXPXVNDQ� � NRPSRVLVL� � NHSHQJXUXVDQ� �%$=�\DQJ� �EDUX�PHODOXL� UDSDW�SOHQR�

%$=����
J� PHQJXPSXONDQ�GDQ�PHQJRODK�GDWD�\DQJ�GLSHUOXNDQ�XQWXN�PHQ\XVXQ��UHQFDQD��

SHQJHORODDQ� � ]DNDW� VHVXDL� GHQJDQ� WXQWXWDQ� DJDPD� GDQ� PHQLQJNDWNDQ�
SHQ\XOXKDQ�VHUWD�ELPELQJDQ�PHODOXL�VLVWHP�LQIRUPDVL���

K� PHQ\HOHQJJDUDNDQ� ELPELQJDQ� GLELGDQJ� SHQJHORODDQ�� SHQJXPSXODQ��
SHQGLVWULEXVLDQ��SHQGD\DJXQDDQ� ]DNDW�� SHPEHUGD\DDQ�HNRQRPL�XPDW�NH�DUDK�
XVDKD� SURGXNWLI�� PHQLQJNDWNDQ� VXPEHU� GD\D� PDQXVLD� SHQJHORODDQ� %$=��
PHODNXNDQ� PRQLWRULQJ�� (YDOXDVL� WHUKDGDS� SURJUDP� NHUMD� VHOXUXK� ELGDQJ� GDQ�
PHPEXDW� WUDQVSDUDQVL� SHODSRUDQ� ]DNDW�� LQIDT� GDQ� VKDGDTRK� SDGD������
PDV\DUDNDW����

L� PHQ\DOXUNDQ� GDQD� ]DNDW�� LQIDT� GDQ� VKDGDTRK� NHSDGD� � PXVWDKLN� � VHVXDL��
GHQJDQ�3DVDO����3HUDWXUDQ��'DHUDK��LQL�����

M� PHQ\HOHQJJDUDNDQ� � WXJDV� � SHQHOLWLDQ� � GDQ� � SHQJNDMLDQ� � PX]DNNL�� PXVWDKLN��
DPLO�� PDKDOX]� ]DNDW� GHQJDQ� VLVWHP� LQIRUPDVL�� � SHQJHPEDQJDQ� � NRPXQLNDVL���
LQIRUPDVL��GDQ�HGXNDVL�SHQJHORODDQ�]DNDW����

N� PHODNXNDQ� �NRRUGLQDVL� �GHQJDQ��%$=�.RWD���.DEXSDWHQ��3URSLQVL� �%DQWHQ�GDQ�
NHSDGD�/HPEDJD�OHPEDJD�$PLO�=DNDW�DWDX�XQLW���XQLW�SHQJXPSXO�]DNDW����

O� PHQMDGL� EDGDQ� NRQVXOWDVL� EDJL� LQVWDQVL� \DQJ� EHUDGD� GDODP� ZLOD\DK�
NRRUGLQDVLQ\D���

P� PHQMDGL�SXVDW�OD\DQDQ�LQIRUPDVL�]DNDW�EDJL�VHOXUXK�PDV\DUDNDW�GL�ZLOD\DK�.RWD�
&LOHJRQ��������

����%DGDQ�����



 ������

��� %DGDQ�SHODNVDQD� ]DNDW� WHUGLUL�GDUL�SDUD�XODPD��XPDUD��FHQGLNLDZDQ�� WHQDJD� �DKOL��
GDQ�WRNRK�PDV\DUDNDW�\DQJ�VXVXQDQ�GDQ�NRPSRVLVLQ\D��WHUGLUL��GDUL����
D� ���VDWX���RUDQJ��NHWXD���
E� ���WLJD��RUDQJ��ZDNLO��NHWXD���
F� ���VDWX��RUDQJ��VHNUHWDULV���
G� ���WLJD��RUDQJ��ZDNLO��VHNUHWDULV���
H� ���VDWX��RUDQJ��EHQGDKDUD��

��� %DGDQ�SHODNVDQD�%$=�GDODP�PHODNVDQDNDQ� WXJDVQ\D�GLEDQWX�ROHK�ELGDQJ�ELGDQJ��
GDQ��WHQDJD��NHVHNUHWDULDWDQ��\DLWX�VHEDJDL�EHULNXW����
D� ELGDQJ� SHQJXPSXODQ� \DQJ� WHUGLUL� GDUL� WHQDJD� SURIHVLRQDO� GHQJDQ� MXPODK�

DQJJRWD�PDNVLPXP����OLPD��RUDQJ�����VDWX��RUDQJ��VHEDJDL��NHWXD�������VDWX��
RUDQJ�VHEDJDL�VHNUHWDULV�GDQ����WLJD��RUDQJ�VHEDJDL�DQJJRWD���

E� ELGDQJ� SHQGLVWULEXVLDQ� \DQJ� WHUGLUL� GDUL� WHQDJD� SURIHVLRQDO� GHQJDQ� MXPODK�
DQJJRWD�PDNVLPXP� �� �OLPD�� RUDQJ�� �� �VDWX�� RUDQJ� VHEDJDL� � NHWXD�� �� �VDWX���
RUDQJ�VHEDJDL��VHNUHWDULV��GDQ����WLJD��RUDQJ�VHEDJDL��DQJJRWD���

F� ELGDQJ��SHQGD\DJXQDDQ��\DQJ��WHUGLUL��GDUL��WHQDJD���SURIHVLRQDO�GHQJDQ�MXPODK�
DQJJRWD�PDNVLPXP��� �� OLPD� �� RUDQJ�� �� �VDWX�� RUDQJ� VHEDJDL� NHWXD�� �� �VDWX��
RUDQJ�VHEDJDL�VHNUHWDULV�GDQ����WLJD��RUDQJ�VHEDJDL��DQJJRWD���

G� ELGDQJ� SHQJHPEDQJDQ� \DQJ� WHUGLUL� GDUL� WHQDJD� SURIHVLRQDO� GHQJDQ� MXPODK�
DQJJRWD�PDNVLPXP�����OLPD���RUDQJ�����VDWX��RUDQJ��VHEDJDL��NHWXD�������VDWX��
RUDQJ�VHEDJDL�VHNUHWDULV�GDQ����WLJD��RUDQJ�VHEDJDL��DQJJRWD���

H� VHNUHWDULDW� WHUGLUL� GDUL� NHSDOD� VHNUHWDULDW� GDQ� EHEHUDSD� RUDQJ� � VWDI� � VHVXDL��
NHEXWXKDQ���

��� %DGDQ�SHODNVDQD�%$=�EHNHUMD�VHEDJDL� OHPEDJD�\DQJ�GLEHQWXN�3HPHULQWDK�VHFDUD�
SURIHVLRQDO� XQWXN�PHQJXPSXONDQ��PHQGLVWULEXVLNDQ�GDQ� �PHQGD\DJXQDNDQ� ]DNDW�
VHUWD� PHPSHUROHK� EDQWXDQ� � ELD\D� � RSHUDVLRQDO� GDUL� $QJJDUDQ� 3HQGDSDWDQ� GDQ�
%HODQMD�'DHUDK��$3%'��.RWD��&LOHJRQ��

�
%DJLDQ��.HGXD�

'HZDQ��3HUWLPEDQJDQ�
3DVDO�����

��� 'HZDQ� � SHUWLPEDQJDQ� � %$=� � PHPSXQ\DL� � WXJDV� SRNRN� � PHPEHULNDQ� VDUDQ��
SHQGDSDW� GDQ� QDVLKDW�� EDLN� PHQ\DQJNXW� NHELMDNDQ� � RSHUDVLRQDO� VHUWD� NHWHWDSDQ�
6\DUL¶DW�,VODP�NHSDGD�EDGDQ�SHODNVDQD�%$=�EDLN�GLPLQWD�DWDXSXQ�WLGDN�GLPLQWD���

��� 5LQFLDQ��WXJDV��SRNRN��GHZDQ��SHUWLPEDQJDQ��DGDODK����
D� PHPEHULNDQ�SHUWLPEDQJDQ�IDWZD�WHQWDQJ�]DNDW�NHSDGD�EDGDQ��SHODNVDQD���
E� PHPEHULNDQ� SHUWLPEDQJDQ� PDQDMHPHQ� GDQ� SHQJHORODDQ� \DQJ� EHUKXEXQJDQ�

GHQJDQ���%$=���
F� PHQJDGDNDQ�VLGDQJ�VHNXUDQJ�NXUDQJQ\D����GXD��NDOL�GDODP��VHWDKXQ��GDQ�DWDX��

VHVXDL��NHEXWXKDQ���
G� PHPEXDW��ODSRUDQ��WDKXQDQ��

����'HZDQ�����



 �������

��� 'HZDQ� SHUWLPEDQJDQ� WHUGLUL� GDUL� XQVXU� XODPD�� FHQGLNLDZDQ�� WHQDJD� SURIHVLRQDO��
WRNRK� PDV\DUDNDW� GDQ� ZDNLO� 3HPHULQWDK�� GHQJDQ� VXVXQDQ� GDQ� NRPSRVLVL�
SHQJXUXVQ\D�WHUGLUL�GDUL����
D� ���VDWX���RUDQJ��NHWXD���
E� ���VDWX��RUDQJ��ZDNLO��NHWXD���
F� ���VDWX��RUDQJ��VHNUHWDULV���
G� ���VDWX��RUDQJ��ZDNLO��VHNUHWDULV���
H� ���WXMXK��RUDQJ��DQJJRWD��

�
%DJLDQ��.HWLJD�

.RPLVL��3HQJDZDV��%$=�
3DVDO�����

��� .RPLVL�SHQJDZDV�%$=�PHPSXQ\DL�WXJDV�SRNRN�SHQJDZDVDQ�WHUKDGDS�SHQJHORODDQ�
GDQ�SHPEHUGD\DDQ��]DNDW��ROHK��EDGDQ��SHODNVDQD��%$=���

��� 5LQFLDQ�WXJDV�NRPLVL�SHQJDZDV�DGDODK����
D� PHPLOLK�GDQ�PHQHWDSNDQ�SLPSLQDQ�NRPLVL�SHQJDZDV���
E� PHODNVDQDNDQ� SHQJDZDVDQ� WHUKDGDS� SHODNVDQDDQ� WXJDV� DGPLQLVWUDWLI� GDQ�

WHNQLV� SHQJXPSXODQ�� SHQGLVWULEXVLDQ�� SHQGD\DJXQDDQ� ]DNDW� VHUWD� SHQHOLWLDQ��
GDQ��SHQJHPEDQJDQ��SHQJHORODDQ���]DNDW���

F� PHODNXNDQ��SHPHULNVDDQ��DXGLWLQJ�GDQ�YHULILNDVL�NHXDQJDQ�\DQJ��GLNHOROD��ROHK��
EDGDQ��SHODNVDQD���

G� PHQJDGDNDQ��SHQJDZDVDQ�WHUKDGDS�NHELMDNDQ�GDQ�SHODNVDQDDQ��SRJUDP��NHUMD��
EDGDQ��SHODNVDQD��%$=���

H� 0HODNXNDQ��SHPHULNVDDQ�GDQ�SHQJDZDVDQ�VHNXUDQJ��NXUDQJQ\D�����GXD����NDOL��
GDODP��VHWDKXQ��GDQ��DWDX�GLVHVXDLNDQ��GHQJDQ��NHEXWXKDQ���

I� PHPEXDW�ODSRUDQ�WDKXQDQ���
��� .RPLVL���SHQJDZDV���WHUGLUL��GDUL��XQVXU��DNXQWDQ��SXEOLN�GDQ�WHQDJD�SURIHVLRQDO�GL�

ELGDQJ� � SHQJDZDVDQ�� GHQJDQ� MXPODK� SHQJXUXV� � PDNVLPXP� ��� �VHEHODV�� RUDQJ��
\DQJ�WHUGLUL�GDUL����
D� ���VDWX��RUDQJ�NHWXD���
E� ���VDWX��RUDQJ�ZDNLO�NHWXD���
F� ���VDWX��RUDQJ�VHNUHWDULV���
G� ���VDWX��RUDQJ�ZDNLO�VHNUHWDULV���
H� ���WXMXK��RUDQJ��DQJJRWD��

��� .RPLVL� � SHQJDZDV� � GDSDW� � PHPLQWD� EDQWXDQ� NHSDGD� DNXQWDQ� SXEOLN� DSDELOD�
GLEXWXKNDQ��

%$%�����
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%DJLDQ��3HUWDPD�
%DGDQ��3HODNVDQD��%$=�

3DVDO�����
��� 7XJDV��GDQ��NHZDMLEDQ��NHWXD��XPXP��EDGDQ��SHODNVDQD��%$=�DGDODK���

D� SHQDQJJXQJ� MDZDE� VHOXUXK� DNWLYLWDV� SHODNVDQDDQ� SURJUDP� NHUMD� %$=� \DQJ�
GLODNVDQDNDQ�ROHK�VHOXUXK�ELGDQJ���

E� PHQHQWXNDQ� SHQXJDVDQ� WHUKDGDS� VHOXUXK� SHUVRQDOLD� EDGDQ� SHODNVDQD� %$=��
EDLN�\DQJ�EHUVLIDW�LQWHUQDO�DWDXSXQ�\DQJ�EHUVLIDW�HNVWHUQDO���

F� PHQHWDSNDQ� NHSXWXVDQ� �� NHSXWXVDQ� DGPLQLVWUDWLI� GDQ� NHELMDNDQ�NHELMDNDQ��
RUJDQLVDVL��GL�ODSDQJDQ���

G� PHQDQGDWDQJDQL� VHOXUXK�DGPLQLVWUDVL�XPXP�GDQ�NHXDQJDQ�EDLN�\DQJ�EHUVLIDW�
LQWHUQDO�DWDXSXQ�\DQJ��EHUVLIDW��HNVWHUQDO���

H� PHQHQWXNDQ� GLVSRVLVL� WHUDNKLU� GDODP�SURVHGXU� NHELMDNDQ� %$=� GL�ZLOD\DK� .RWD�
&LOHJRQ����

I� SHPELQDDQ��GDQ�SHQJDZDVDQ�WHUKDGDS�NLQHUMD�SHUVRQDOLD�EDGDQ��SHODNVDQD����
J� PHODNXNDQ� NRRUGLQDVL�� NRQVXOWDVL� GDQ� LQIRUPDVL� NHSDGD� GHZDQ� SHUWLPEDQJDQ��

GDQ��NRPLVL��SHQJDZDV����
K� PHPEHULNDQ�ODSRUDQ�NHUMD�WDKXQDQ�NHSDGD�'35'�.RWD�&LOHJRQ�GDQ�:DOLNRWD���
L� PHQHQWXNDQ�ZDNWX�SHODNVDQDDQ�UDSDW�SHQJXUXV�KDULDQ�EDGDQ�SHODNVDQD�%$=���
M� PHPLPSLQ� VHOXUXK� NHJLDWDQ� SHUVLGDQJDQ� \DQJ� EHUVLIDW� LQWHUQDO� DWDXSXQ� \DQJ�

EHUVLIDW�HNVWHUQDO�RUJDQLVDVL���
N� PHQGHOHJDVLNDQ�NHZHQDQJDQ�NHUMD�NHSDGD�SHUVRQDOLD�EDGDQ�SHODNVDQD�%$=����
O� PHPXWXVNDQ�NHELMDNDQ�\DQJ�EHUVLIDW�LQVLGHQWLO�GDQ�WHPSRUDO��

��� 7XJDV��GDQ��NHZDMLEDQ��ZDNLO��NHWXD��EDGDQ��SHODNVDQD��%$=�DGDODK���
D� PHZDNLOL��VHOXUXK��NHZHQDQJDQ��NHWXD��EDGDQ���SHODNVDQD���%$=�DSDELOD�NHWXD�

EDGDQ�SHODNVDQD�%$=�WLGDN�GDSDW�PHODNVDQDNDQ�WXJDV���DPDQDW�RUJDQLVDVL�GDQ�
DWDX��EHUKDODQJDQ�KDGLU�GDODP�WXJDV�NHVHKDULDQ���

E� VHEDJDL��SHQJJHUDN��GDQ�SHQJDUDK�SDGD�ELGDQJ���ELGDQJ��GDODP��PHQMDODQNDQ��
SURJUDP��NHUMD���

F� PHODNVDQDNDQ�SHQGHOHJDVLDQ�ZHZHQDQJ�GDUL�NHWXD�EDGDQ�SHODNVDQD�%$=��
��� 7XJDV�GDQ�NHZDMLEDQ�VHNUHWDULV�EDGDQ�SHODNVDQD�%$=�DGDODK����

D� SHQDQJDQDQ�DGPLQLVWUDVL�XPXP�%$=�XQWXN�GLVDPSDLNDQ�� �GLODSRUNDQ� �NHSDGD��
NHWXD����

E� SHQJDWXUDQ��WDWD��NHUMD�DGPLQLVWUDVL�VHNUHWDULDW�EDGDQ�SHODNVDQD��%$=����
�

F��PHODNVDQDNDQ�������



 �������

F� PHODNVDQDNDQ� � SHWXQMXN�� SHQGHOHJDVLDQ� GDQ� LQVWUXNVL� GDUL� NHWXD� GDODP�
PHQDQJDQL�DGPLQLVWUDVL�%$=���

G� GDODP��PHODNVDQDNDQ��WXJDVQ\D��VHNUHWDULV����EDGDQ���SHODNVDQD�%$=�GLEDQWX�
ROHK��WHQDJD��VHNUHWDULDW��GHQJDQ�ULQFLDQ�WXJDV�VHEDJDL�EHULNXW���
�� PHOD\DQL�VHOXUXK�NHEXWXKDQ��EDLN�DGPLQLVWUDWLI�DWDX�SHOD\DQDQ��WHNQLV��GDUL��

SHQJXUXV��KDULDQ���EDGDQ���SHODNVDQD�%$=�GDQ�ELGDQJ�ELGDQJ���
�� PHQJDMXNDQ� � XSD\D� � SHQJHPEDQJDQ� NHOHQJNDSDQ� VDUDQD� GDQ� SUDVDUDQD��

SHUNDQWRUDQ�%$=���
�� PHPHOLKDUD�VHOXUXK�DVHW�\DQJ�GLPLOLNL�ROHK�%$=����
�� PHQ\DPSDLNDQ� � � LQIRUPDVL� � \DQJ� �PDVXN� � NHSDGD� � %$=�� XQWXN� NHPXGLDQ��

GLWHUXVNDQ��NHSDGD�VHOXUXK�IXQJVLRQDULV�EDGDQ�SHODNVDQD�%$=���
�� PHQJDMXNDQ�SHQDPEDKDQ�GDQ�SHQJXUDQJDQ�NDU\DZDQ�VHNUHWDULDW��%$=��

��� 7XJDV�GDQ�NHZDMLEDQ�ZDNLO�VHNUHWDULV�EDGDQ�SHODNVDQD�%$=���DGDODK���
D� PHODNVDQDNDQ�NHZHQDQJDQ�VHNUHWDULV�DSDELOD�VHNUHWDULV�EHUKDODQJDQ�DWDX�WLGDN�

GDSDW�PHQMDODQNDQ�WXJDV�GDQ���NHZDMLEDQQ\D���
E� PHPEDQWX�GDQ�PHQJNRRUGLQLU�VHNUHWDULV�ELGDQJ�GDODP�PHQMDODQNDQ��SURJUDP�

NHUMD�VHWLDS�VDDW��EDLN�GLPLQWD�DWDX�WLGDN�GLPLQWD����
F� PHODNVDQDNDQ� � SHPELQDDQ� � GDQ� � ELPELQJDQ� � NHSDGD� VHOXUXK� VWDI� GDODP�

PHQJXUXV�GDQ�PHQDQJDQL�DGPLQLVWUDVL�%$=��EDLN�\DQJ�EHUVLIDW�LQWHUQDO�PDXSXQ�
\DQJ�EHUVLIDW�HNVWHUQDO�RUJDQLVDVL���

��� 7XJDV��GDQ��NHZDMLEDQ��EHQGDKDUD��EDGDQ��SHODNVDQD��%$=���DGDODK����
D� PHQJHOROD��VLVWHP��DGPLQLVWUDVL��NHXDQJDQ�%$=���
E� PHPEXDW���UHQFDQD��SHQGDSDWDQ��GDQ��EHODQMD�%$=�.RWD�&LOHJRQ���
F� PHQMDODQNDQ� GDQ� PHPDWXKL� SHULQWDK�� PHQHULPD�� PHQ\LPSDQ� SHQGLVWULEXVLDQ�

GDQ� SHQGD\DJXQDDQ� GDQD� ]DNDW�� LQIDT� GDQ� VKDGDTRK� GDUL� .HWXD� %$=� � .RWD��
&LOHJRQ���

G� PHQHULPD�WDQGD�EXNWL�VHWRUDQ�GDQD��GL�OXDU�GDQD�]DNDW��LQIDT�GDQ�VKDGDTRK���
H� PHPEXDW��ODSRUDQ��NHXDQJDQ��%$=��VHFDUD��EHUNDOD��

��� 7XJDV��GDQ��NHZDMLEDQ��NHWXD��ELGDQJ��EDGDQ�SHODNVDQD�%$=�DGDODK�����
D� PHODNVDQDNDQ� VHOXUXK� WXJDV� \DQJ�PHQMDGL� WDQJJXQJ� MDZDE� EDGDQ� SHQJHOROD�

VHVXDL�GHQJDQ�ELGDQJ�JDUDSDQQ\D���
E� PHQHUMHPDKNDQ� � NHELMDNDQ� �� NHELMDNDQ� EDGDQ� SHODNVDQD� %$=� NH� GDODP�

SURJUDP�NHUMD���
F� PHQJDMXNDQ� SURJUDP� NHUMD� ELGDQJ� NHSDGD� SHQJXUXV� KDULDQ� EDGDQ� SHODNVDQD�

%$=���
G� PHQJDGDNDQ�UDSDW�ELGDQJ�VHVXDL�GHQJDQ�NHEXWXKDQ�ELGDQJ�PDVLQJ�PDVLQJ���

H��PHQJLNXWL�����



 �������

H� PHQJLNXWL��PHPEHULNDQ�JDJDVDQ�GDQ�VDUDQ�GDODP�UDSDW�KDULDQ�SHQJXUXV�EDGDQ�
SHODNVDQD�%$=���

I� PHPEHULNDQ� LQVWUXNVL� NHSDGD� VHNUHWDULV� ELGDQJ� GDQ� DQJJRWD� ELGDQJ� XQWXN�
PHQMDODQNDQ�VHPXD�WXJDV�GDQ�NHZDMLEDQ�PDVLQJ�PDVLQJ��ELGDQJ���

J� PHPEHULNDQ�ELPELQJDQ�GDQ�SHQJDZDVDQ�WHUKDGDS�NLQHUMD�DQJJRWD�ELGDQJ���
K� PHODNXNDQ��NRRUGLQDVL���NRQVXOWDVL��GDQ��LQIRUPDVL��DQWDU�ELGDQJ�����
L� PHQ\DPSDLNDQ� ODSRUDQ� NHUMD� ELGDQJ� VHFDUD� EHUNDOD� NHSDGD� NHWXD� EDGDQ�

SHODNVDQD�%$=��
��� 7XJDV��GDQ��NHZDMLEDQ��VHNUHWDULV��ELGDQJ��DGDODK�����

D� PHODNVDQDNDQ�WXJDV�DGPLQLVWUDVL�XPXP�GDQ�NHXDQJDQ�LQWHUQ�ELGDQJ��PDVLQJ���
PDVLQJ���

E� VHZDNWX�±�ZDNWX��GDSDW��PHZDNLOL��VHOXUXK��NHZHQDQJDQ��NHWXD�ELGDQJ��DSDELOD�
NHWXD�ELGDQJ�EHUKDODQJDQ�PHQMDODQNDQ��DNWLYLWDV���

F� PHQJLNXWL�� � PHPEHULNDQ� � JDJDVDQ� GDQ� VDUDQ� GDODP� UDSDW� KDULDQ� � SHQJXUXV�
EDGDQ�SHODNVDQD�%$=�����

G� PHODNXNDQ�SHPELQDDQ�GDQ�ELPELQJDQ�WHUKDGDS�NLQHUMD�DQJJRWD��ELGDQJ���
H� PHQ\LDSNDQ�GDQ�PHQ\XVXQ�EDKDQ�ODSRUDQ�ELGDQJ�VHFDUD�EHUNDOD��

���� $QJJDUDQ�ELGDQJ����
D� PHODNVDQDNDQ�VHOXUXK�WXJDV�GDQ�SURJUDP�NHUMD�ELGDQJ���
E� PHPEHULNDQ��VDUDQ���SHQGDSDW��GDQ�LQLVLDWLI�GDODP�UDSDW�ELGDQJ���

�
%DJLDQ�.HGXD�

'HZDQ��3HUWLPEDQJDQ��%$=�
3DVDO�����

��� 7XJDV��GDQ��NHZDMLEDQ��GHZDQ��SHUWLPEDQJDQ��%$=�DGDODK���
D� 0HPEHULNDQ�VDUDQ�GDQ� �SHUWLPEDQJDQ� � WHQWDQJ� �SHQJHPEDQJDQ�KXNXP�VHUWD�

SHPDKDPDQ�PHQJHQDL�SHQJHORODDQ�]DNDW����
E� 0HPEHULNDQ� � � SHUWLPEDQJDQ�SHUWLPEDQJDQ� � WHUKDGDS� NHELMDNDQ�NHELMDNDQ�

SHQJXPSXODQ��SHQGD\DJXQDDQ�GDQ�SHQJHPEDQJDQ��SHQJHORODDQ��]DNDW���
F� 0HPLQWD� � SHUWDQJJXQJMDZDEDQ� � GDQ� � ODSRUDQ� KDVLO� � � NHUMD� EDGDQ� � SHODNVDQD���

VHUWD����KDVLO����SHPHULNVDDQ����NRPLVL���SHQJDZDV���
G� PHQDPSXQJ�GDQ�PHQ\DOXUNDQ�SHQGDSDW�XPDW�WHQWDQJ�SHQJHORODDQ�]DNDW����
H� PHQ\HOHQJJDUDNDQ�UDSDW��HYDOXDVL��GHZDQ��SHUWLPEDQJDQ���
I� PHODNXNDQ� � NRRUGLQDVL�� � NRQVXOWDVL� � GDQ� LQIRUPDVL� NHSDGD� EDGDQ� � SHODNVDQD��

GDQ��NRPLVL��SHQJDZDV����
J� PHQ\HOHQJJDUDNDQ�VLGDQJ��GHZDQ��SHUWLPEDQJDQ���
K� PHPLPSLQ� VHWLDS� SHUVLGDQJDQ� \DQJ� GLVHOHQJJDUDNDQ� ROHK� PDMHOLV� GHZDQ�

SHUWLPEDQJDQ��
����7XJDV�����



 �������

��� 7XJDV��GDQ��NHZDMLEDQ��ZDNLO��NHWXD��GHZDQ��DGDODK����
D� PHZDNLOL� NHZHQDQJDQ� NHWXD� GHZDQ� SHUWLPEDQJDQ�� DSDELOD� NHWXD� � GHZDQ��

SHUWLPEDQJDQ��EHUKDODQJDQ�GDODP�PHODNVDQDNDQ�WXJDV�UXWLQ����
E� PHPEHULNDQ� VDUDQ� GDQ� SHQGDSDW� NHSDGD� NHWXD� GHZDQ� SHUWLPEDQJDQ� XQWXN�

SHUEDLNDQ�GDQ�SHQJHPEDQJDQ�NLQHUMD�GHZDQ�SHUWLPEDQJDQ���
F� PHODNXNDQ� � NRRUGLQDVL�� � NRQVXOWDVL� GDQ� LQIRUPDVL� NHSDGD� VHOXUXK� � DQJJRWD��

GHZDQ��SHUWLPEDQJDQ��DWDV�SHUVHWXMXDQ�NHWXD��GHZDQ��SHUWLPEDQJDQ��
��� 7XJDV���GDQ���NHZDMLEDQ���VHNUHWDULV��GHZDQ���SHUWLPEDQJDQ��DGDODK����

D� PHODNVDQDNDQ��NHJLDWDQ��NHWDWDXVDKDDQ����
E� PHQ\LDSNDQ� EDKDQ�EDKDQ� XQWXN� SHODNVDQDDQ� NHJLDWDQ� SHQJHPEDQJDQ��

SHQJHORODDQ�]DNDW�VHUWD�PHPSHUVLDSNDQ�EDKDQ��ODSRUDQQ\D����
F� PHQ\HGLDNDQ��IDVLOLWDV��XQWXN��NHODQFDUDQ��SHODNVDQDDQ�NHJLDWDQ�VHKDUL�KDUL���
G� PHODNVDQDNDQ�WXJDV��ODLQ��\DQJ��GLEHULNDQ��ROHK��NHWXD���
H� GDODP���PHODNVDQDNDQ�WXJDVQ\D��VHNUHWDULV��EHUWDQJJXQJ�MDZDE��NHSDGD��NHWXD�

��
I� PHODNVDQDNDQ��� WXJDV�� � WHNQLV�� �DGPLQLVWUDVL� � ��\DQJ��GLEXWXKNDQ�ROHK�GHZDQ��

SHUWLPEDQJDQ��GDODP�PHODNVDQDNDQ�WXJDV�SHUWLPEDQJDQQ\D���
J� PHQJDMXNDQ�VHOXUXK�NHEXWXKDQ�GHZDQ�SHUWLPEDQJDQ�GDODP�PHQMDODQNDQ�WXJDV�

SHUWLPEDQJDQQ\D���
K� PHODNXNDQ� NRRUGLQDVL� GHQJDQ� VHOXUXK� VHNUHWDULV� EDGDQ� SHODNVDQD� %$=� GDQ�

VHNUHWDULV� NRPLVL� SHQJDZDV�� DSDELOD� WHUGDSDW� NHWLGDNMHODVDQ� � GDODP� � VHEXDK�
SHUVRDODQ���

L� PHPEHULNDQ� VDUDQ� GDQ� SHQGDSDW� WHUKDGDS� NHWXD� GHZDQ� SHUWLPEDQJDQ� EDJL�
SHUNHPEDQJDQ�GDQ�NHPDMXDQ�NLQHUMD��GHZDQ��SHUWLPEDQJDQ��

��� 7XJDV�GDQ�NHZDMLEDQ�ZDNLO�VHNUHWDULV�GHZDQ�SHUWLPEDQJDQ�DGDODK����
D� PHPEDQWX�VHNUHWDULV�GDODP�PHODNVDQDNDQ�WXJDV�VHKDUL�KDUL���
E� PHZDNLOL� VHNUHWDULV� GHZDQ� SHUWLPEDQJDQ�� DSDELOD� VHNUHWDULV� GHZDQ����

SHUWLPEDQJDQ� � � � EHUKDODQJDQ� GDODP� PHQMDODQNDQ� WXJDV� � VHNUHWDULV� � GHZDQ��
SHUWLPEDQJDQ����

F� PHQJDMXNDQ�VDUDQ�GDQ�SHQGDSDW�GDODP�UDSDW�GHZDQ�SHUWLPEDQJDQ��
��� 7XJDV��GDQ��NHZDMLEDQ��DQJJRWD��GHZDQ��DGDODK�����

D� PHPEHULNDQ� PDVXNDQ� NHSDGD� NHWXD� WHQWDQJ� SHQJHPEDQJDQ� � SHQJHORODDQ�
]DNDW���

E� PHPEDQWX�SHODNVDQDDQ��WXJDV�WXJDV�GHZDQ�SHUWLPEDQJDQ���
F� PHODNVDQDNDQ��WXJDV�WXJDV�ODLQ�\DQJ�GLEHULNDQ�NHWXD��

%DJLDQ�����



 �������

%DJLDQ�.HWLJD�
.RPLVL��3HQJDZDV�

3DVDO����
��� 7XJDV�GDQ�NHZDMLEDQ�NHWXD�NRPLVL�SHQJDZDV�DGDODK���

D� PHQJDGDNDQ� � � GDQ� � PHPLPSLQ� � UDSDW� � � NRPLVL� � � SHQJDZDV� GDODP��
PHPSHUVLDSNDQ�SHODNVDQDDQ�SHQJDZDVDQ�WHUKDGDS�EDGDQ�SHODNVDQD�%$=���

E� PHQHQWXNDQ�ZDNWX�SHODNVDQDDQ�SHPHULNVDDQ��DXGLWLQJ�GDQ�YHULILNDVL�NHXDQJDQ�
\DQJ�GLNHOROD�EDGDQ�SHODNVDQD�%$=���

F� PHQJDGDNDQ� � UDSDW� HYDOXDVL� KDVLO� � SHPHULNVDDQ� WHUKDGDS� EDGDQ� SHODNVDQD�
%$=��

��� 7XJDV�GDQ�NHZDMLEDQ�ZDNLO�NHWXD�NRPLVL�SHQJDZDV�DGDODK���
D� PHPEDQWX�.HWXD�GDODP�PHODNVDQDNDQ�WXJDV�VHKDUL�KDUL���
E� PHQ\HOHQJJDUDNDQ� NRRUGLQDVL� GDODP� PHODNVDQDNDQ� NHJLDWDQ� SHQJDZDVDQ��

GDQD��%$=���
F� PHPEHULNDQ�VDUDQ�GDQ�SHQGDSDW�GDODP�UDSDW�NRPLVL�SHQJDZDV��

��� 7XJDV�GDQ�NHZDMLEDQ��VHNUHWDULV�NRPLVL�SHQJDZDV�DGDODK���
D� 0HODNVDQDNDQ�NHJLDWDQ�NHWDWDXVDKDDQ�GL�ELGDQJ�SHQJDZDVDQ���
E� PHQ\LDSNDQ�EDKDQ�EDKDQ�XQWXN�SHODNVDQDDQ�NHJLDWDQ�SHQJDZDVDQ�GDQD�%$=�

VHUWD�PHPSHUVLDSNDQ�EDKDQ���ODSRUDQQ\D���
F� PHQ\HGLDNDQ���)DVLOLWDV�XQWXN�NHODQFDUDQ�NHJLDWDQ��SHQJDZDVDQ���
G� GDODP� PHODNVDQDNDQ� WXJDVQ\D� EHUWDQJJXQJ� MDZDE� NHSDGD� NHWXD� NRPLVL�

SHQJDZDV���
H� PHPEHULNDQ�VDUDQ�GDQ�SHQGDSDW�SDGD�UDSDW�UDSDW�\DQJ�GLVHOHQJJDUDNDQ�ROHK�

NRPLVL�SHQJDZDV��
�����7XJDV�GDQ�NHZDMLEDQ�ZDNLO�VHNUHWDULV�NRPLVL�SHQJDZDV�DGDODK����

D� PHPEDQWX�VHNUHWDULV�GDODP�PHODNVDQDNDQ�WXJDV�VHKDUL�KDUL���
E� PHZDNLOL� VHNUHWDULV�� DSDELOD� VHNUHWDULV� EHUKDODQJDQ� GDODP� PHQMDODQNDQ�

WXJDVQ\D���
F� GDODP� PHODNVDQDNDQ� WXJDVQ\D� ZDNLO� VHNUHWDULV� EHUWDQJJXQJ� MDZDE� NHSDGD�

NHWXD�NRPLVL�SHQJDZDV��
���� 7XJDV�GDQ�NHZDMLEDQ�DQJJRWD�NRPLVL�SHQJDZDV�DGDODK���

D� PHODNVDQDNDQ��WXJDV��RSHUDVLRQDO�VHKDUL�KDUL���
E� PHPEDQWX�SHODNVDQDDQ�WXJDV�WXJDV��NRPLVL��SHQJDZDV���
F� GDODP� PHQMDODQNDQ� WXJDVQ\D� DQJJRWD� EHUWDQJJXQJ� MDZDE� NHSDGD� � NHWXD�

NRPLVL��SHQJDZDV���
G� PHPEHULNDQ�PDVXNDQ�GDQ�VDUDQ�NHSDGD�UDSDW�NRPLVL�SHQJDZDV��

%$%�����
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3DVDO����
��� <DQJ� GLPDNVXG� GHQJDQ� PHNDQLVPH� NHUMD� %$=� DGDODK� WDWD� NHUMD� SHUVRQDOLD� %$=�

EHUGDVDUNDQ�NHZHQDQJDQ�MDEDWDQ�\DQJ��GLHPEDQQ\D���
��� 'DODP��PHODNVDQDNDQ�WXJDV�\DQJ�EHUVLIDW�NRRUGLQDWLI�SHQJXUXV�%$=�.RWD�&LOHJRQ��

EHUKDN� GDQ� EHUNHZDMLEDQ� PHPLQWD� ODSRUDQ� SHQJXPSXODQ�� SHQGLVWULEXVLDQ� GDQ�
SHQGD\DJXQDDQ�GDQD� ]DNDW�� LQIDT�GDQ�VKDGDTRK�GDUL�%$=�NDEXSDWHQ�NRWD�GDODP�
SURSLQVL��EHVHUWD��XQLW�XQLW�SHQJXPSXO��]DNDW���LQIDT��GDQ��VKDGDTRK���

��� /DSRUDQ� � NHUMD� \DQJ� GLVDPSDLNDQ� NHSDGD� � :DOLNRWD� � GDQ� '35'� .RWD� � &LOHJRQ���
ODSRUDQ� � GLZDNLOL� � ROHK� � EDGDQ� � SHODNVDQD� � %$=� � \DQJ� � � LVLQ\D� � PHPXDW���
NHVHOXUXKDQ� � � DNWLYLWDV� � � %$=� � .RWD� � &LOHJRQ� � GLOHQJNDSL� � ROHK� � � ODSRUDQ� GHZDQ�
SHUWLPEDQJDQ�GDQ�NRPLVL�SHQJDZDV���

��� +DO�KDO� � \DQJ� � EHOXP� � WHUFDQWXP� � GDODP� � D\DW� � ����� ���� GDQ� ���� GLDWXU� GDODP�
.HSXWXVDQ� .HWXD� 8PXP� %$=� .RWD� &LOHJRQ� � PHODOXL� � SHUVHWXMXDQ� � GHZDQ��
SHUWLPEDQJDQ��

�
%$%��;�

3(/$325$1�'$1�.(/(1*.$3$1�$'0,1,675$6,�
3DVDO�����

��� 3HQDQJJXQJ���MDZDE�SHQJHORODDQ�]DNDW��LQIDT�GDQ�VKDGDTRK�DGDODK�%$=�GDQ�/$=��
\DQJ� EHUWDQJJXQJ� MDZDE� NHSDGD� :DOLNRWD� GDQ� � � PHPEXDW� � � ODSRUDQ� � WDKXQDQ�
NHSDGD�'35'�.RWD�&LOHJRQ�VHUWD�EHUVHGLD�GL�DXGLW���

��� %$=� GDQ� /$=�ZDMLE�PHQHUELWNDQ� EXNWL� VHWRUDQ� VHEDJDL� WDQGD� WHULPD� DWDV� VHWLDS�
]DNDW�\DQJ�GLWHULPD���

��� %XNWL� VHWRUDQ� ]DNDW� \DQJ� VDK� WHUVHEXW� KDUXV� PHQFDQWXPNDQ� KDO�KDO� VHEDJDL�
EHULNXW���
D� QDPD�� � DODPDW� GDQ� QRPRU� OHQJNDS� SHQJHVDKDQ� %$=� DWDX� QRPRU� OHQJNDS�

SHQJXNXKDQ�/$=���
E� QRPRU�XUXW�EXNWL�VHWRUDQ���
F� QDPD���DODPDW��PX]DNNL��GDQ�1RPRU�3RNRN�:DMLE�3DMDN��13:3��DSDELOD�]DNDW�

SHQJKDVLODQ� \DQJ� GLED\DUNDQ� GLNXUDQJNDQ� GDUL� SHQJKDVLODQ� NHQD� SDMDN�
SHQJKDVLODQ���

G� MXPODK� ]DNDW� \DQJ� GLVHWRU� GDODP� DQJND� GDQ� KXUXI� VHUWD� GLFDQWXPNDQ� WDKXQ�
KDXO���

H� WDQGD� WDQJDQ��QDPD�� MDEDWDQ�SHWXJDV�%$=�GDQ�/$=�� WDQJJDO�SHQHULPDDQ�GDQ�
VWHPSHO�%$=�GDQ�/$=���

����%XNWL�����



 �������

(4) %XNWL� VHWRUDQ� ]DNDW� \DQJ� VDK� WHUVHEXW� GLEXDW� GDODP� UDQJNDS� �� �WLJD�� GHQJDQ�
ULQFLDQ�VHEDJDL�EHULNXW���
D� OHPEDU� NH��� �NHVDWX�� DVOL�� GLEHULNDQ� NHSDGD�PX]DNNL� \DQJ� GDSDW� � GLJXQDNDQ��

VHEDJDL�EXNWL�SHQJXUDQJDQ�SHQJKDVLODQ�NHQD�SDMDN�SHQJKDVLODQ���
E� OHPEDU��NH�����NHGXD���GLEHULNDQ��NHSDGD��%$=��GDQ�/$=�VHEDJDL��DUVLS���
F� OHPEDU��NH�����NHWLJD���GLJXQDNDQ��VHEDJDL�DUVLS�EDQN�SHQHULPD��DSDELOD�]DNDW�

GLVHWRU�PHODOXL�EDQN��
�

%$%��;,�
3(1,1-$8$1��8/$1*�

3DVDO����
��� %$=� \DQJ� WHODK� GLEHQWXN� GDSDW� GLWLQMDX� XODQJ� DSDNDK� WHODK� PHODNVDQDNDQ��

NHZDMLEDQQ\D����
��� 0HNDQLVPH� � SHQLQMDXDQ� � XODQJ� � WHUKDGDS� � SHQJHORODDQ� %$=� WHUVHEXW� � PHODOXL�

WDKDSDQ�VHEDJDL�EHULNXW�����
D���GLEHULNDQ� SHULQJDWDQ� VHFDUD� WHUWXOLV� ROHK� 3HPHULQWDK� 'DHUDK� VHVXDL� GHQJDQ�

WLQJNDWDQQ\D�\DQJ�WHODK�PHPEHQWXN�%$=���
E�� ELOD�SHULQJDWDQ�WHODK�GLODNXNDQ�VHEDQ\DN����WLJD��NDOL�GDQ�WLGDN�DGD�SHUXEDKDQ��

PDND� SHQJHVDKDQ� GDSDW� GLWLQMDX� XODQJ� GDQ� 3HPHULQWDK� GDSDW� PHPEHQWXN�
NHPEDOL�%$=�GHQJDQ�VXVXQDQ�SHQJXUXV�\DQJ�EDUX��

�
%$%��;,,�

.(7(178$1���3,'$1$�
3DVDO����

��� 6HWLDS� SHQJHOROD� ]DNDW� \DQJ� NDUHQD� NHODODLDQQ\D� WLGDN� PHQFDWDW� DWDX� PHQFDWDW�
GHQJDQ�WLGDN�EHQDU�KDUWD�]DNDW��LQIDT��VKDGDTRK��KLEDK��ZDVLDW��ZDULV��GDQ�NDIDUDW�
GLDQFDP�GHQJDQ�KXNXPDQ� NXUXQJDQ� VHODPD�ODPDQ\D� WLJD� EXODQ�GDQ� DWDX�GHQGD�
VHEDQ\DN�EDQ\DNQ\D�5S����������������WLJD�SXOXK�MXWD�UXSLDK�����

��� 7LQGDN�SLGDQD�\DQJ�GLPDNVXG�SDGD�D\DW�����GL�DWDV��PHUXSDNDQ�SHODQJJDUDQ���
��� 6HWLDS� SHWXJDV� %$=� GDQ� SHWXJDV� /$=� \DQJ� PHODNXNDQ� WLQGDN� SLGDQD� NHMDKDWDQ�

GLNHQDL�VDQNVL�VHVXDL�GHQJDQ�SHUDWXUDQ�SHUXQGDQJ�XQGDQJDQ�\DQJ�EHUODNX��
�

%$%��;,,,�
.(7(178$1��3(1<,',.$1�

3DVDO�����
��� 3HMDEDW�3HJDZDL�1HJHUL�6LSLO� WHUWHQWX�GL� OLQJNXQJDQ�3HPHULQWDK�GLEHUL�ZHZHQDQJ�

NKXVXV�XQWXN�PHODNXNDQ�SHQ\LGLNDQ�DWDV�SHODQJJDUDQ�NHWHQWXDQ�GDODP�3HUDWXUDQ�
'DHUDK�LQL��VHODLQ�ROHK�SHMDEDW�SHQ\LGLN�XPXP���

����:HZHQDQJ�����



 �������

��� :HZHQDQJ��SHQ\LGLN��VHEDJDLPDQD�GLPDNVXG�SDGD�D\DW������DGDODK���
D� PHQHULPD�ODSRUDQ�DWDX�SHQJDGXDQ�GDUL�VHVHRUDQJ�WHQWDQJ�DGDQ\D�SLGDQD����
E� PHODNXNDQ�WLQGDNDQ�SHUWDPD�SDGD�VDDW�LWX��GL�WHPSDW�NHMDGLDQ�GDQ�PHODNXNDQ�

SHPHULNVDDQ���
F� PHQ\XUXK��EHUKHQWL��VHVHRUDQJ�WHUVDQJND�GDQ�PHPHULNVD�WDQGD�SHQJHQDO�GLUL�

WHUVDQJND����
G� PHODNXNDQ�SHQ\LWDDQ�EHQGD�GDQ�DWDX�VXUDW���
H� PHQJDPELO�VLGLN�MDUL�GDQ�PHPRWUHW���
I� PHPDQJJLO�RUDQJ�XQWXN�GLGHQJDU�GDQ�GLSHULNVD�VHEDJDL�WHUVDQJND�DWDX�VDNVL���
J� PHQGDWDQJNDQ�RUDQJ�DKOL�GDODP�KXEXQJDQQ\D�GHQJDQ�SHPHULNVDDQ�SHUNDUD���
K� PHQJDGDNDQ�SHQJKHQWLDQ�SHQ\LGLNDQ�VHWHODK�PHQGDSDW�SHWXQMXN��GDUL�SHQ\LGLN�

XPXP� EDKZD� WLGDN� WHUGDSDW� FXNXS� EXNWL� � DWDX� � SHULVWLZD� � WHUVHEXW� � EXNDQ�
PHUXSDNDQ� WLQGDN� SLGDQD� GDQ� VHODQMXWQ\D� PHODOXL� SHQ\LGLN� XPXP�
PHPEHULWDKXNDQ� KDO� WHUVHEXW� NHSDGD� SHQXQWXW� XPXP�� WHUVDQJND� DWDX�
NHOXDUJDQ\D���

L� PHQJDGDNDQ�WLQGDNDQ�ODLQ�PHQXUXW�KXNXP�GDSDW�GLSHUWDQJJXQJMDZDENDQ��
��� 3HQ\LGLN�VHEDJDLPDQD�GLPDNVXG�D\DW������PHPEHULWDKXNDQ�GLPXODLQ\D�SHQ\LGLNDQ�

GDQ�PHQ\DPSDLNDQ� KDVLO� SHQ\LGLNDQQ\D� NHSDGD� SHQXQWXW� XPXP�� VHVXDL� GHQJDQ�
NHWHQWXDQ� \DQJ� GLDWXU� GDODP� 8QGDQJ�XQGDQJ� 1RPRU� �� 7DKXQ� ����� WHQWDQJ�
+XNXP��$FDUD��3LGDQD��

�
%$%��;,9�

.(7(178$1���3(5$/,+$1�
3DVDO�����

%$=�.RWD�&LOHJRQ� \DQJ� DGD� WHWDS�PHQMDODQNDQ� WXJDV� GDQ� IXQJVLQ\D�EHUDNKLU� � VDPSDL��
GHQJDQ��WHUEHQWXNQ\D�%$=�.RWD�&LOHJRQ�EHUGDVDUNDQ�3HUDWXUDQ�'DHUDK�LQL��
�

%$%��;9�
.(7(178$1��3(18783�

3DVDO�����
+DO�KDO� ODLQ� \DQJ� EHOXP� GLDWXU� GDODP� 3HUDWXUDQ� 'DHUDK� LQL�� GLDWXU� OHELK� ODQMXW� ROHK��
:DOLNRWD��
�
�

3DVDO�����



 �������

3DVDO�����
3HUDWXUDQ�'DHUDK�LQL�PXODL�EHUODNX�SDGD�WDQJJDO�GLXQGDQJNDQ��
$JDU�VHWLDS�RUDQJ�PHQJHWDKXLQ\D��PHPHULQWDKNDQ�SHQJXQGDQJDQ�3HUDWXUDQ�'DHUDK�LQL�
GHQJDQ�SHQHPSDWDQQ\D�GDODP�/HPEDUDQ�'DHUDK��

�
�

'LWHWDSNDQ�GL�&LOHJRQ�
SDGD�WDQJJDO�����0HL������������������������
:$/,.27$��&,/(*21��

WWG�
+��7E��$$7��6<$)$¶$7�

'LXQGDQJNDQ��GL�&LOHJRQ�
SDGD�WDQJJDO�����0HL����������������������������������������
6(.5(7$5,6�'$(5$+�.27$�&,/(*21��

WWG�
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�

/(0%$5$1�'$(5$+�.27$�&,/(*21�7$+81������12025������6(5,��'�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



 �������

3(1-(/$6$1�
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3(5$785$1�'$(5$+�.27$�&,/(*21�
12025�����7$+81�������

7(17$1*�
3(1*(/2/$$1�=$.$7��,1)$4�'$1�6+$'$42+�

�
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3HQXQDLDQ� ]DNDW� PHUXSDNDQ� NHZDMLEDQ� VHWLDS� PXVOLP� \DQJ� PDPSX� XQWXN�
PHPED\DUQ\D� GDQ� GLSHUXQWXNNDQ� EDJL� \DQJ� EHUKDN� PHQHULPDQ\D�� 'HQJDQ�
SHQJHORODDQ�]DNODW�\DQJ�DVSLUDWLI��SURIHVLRQDO��WUDQVSDUDQ�GDQ�SURJUDP�NHUMD�\DQJ�
MHODV�� � ]DNDW� � \DQJ�PHUXSDNDQ� VXPEHU� GDQD� SRWHQVLDO� MXJD� GDSDW� GLPDQIDDWNDQ�
XQWXN�PHPDMXNDQ�NHVHMDKWHUDDQ�XPXP�EDJL�PDV\DUDNDW�NKXVXVQ\D�.RWD�&LOHJRQ��
3HPHULQWDK��'DHUDK��EHUXSD\D�XQWXN��PHPEDQJXQ�GDHUDK�DJDU�OHELK�GLQDPLV�GDQ�
GDSDW� PHPDMXNDQ� NHVHMDKWHUDDQ� PDV\DUDNDW� .RWD� &LOHJRQ�� XSD\D� PHQJJDOL� GDQ�
PHPDQIDDWNDQ�]DNDW�PHUXSDNDQ�VDODK�VDWX�ZXMXG�DSOLNDVL�SHPEDQJXQDQ�VSLULWXDO�
PHODOXL� � SHPEDQJXQDQ� GLELGDQJ� $JDPD� \DQJ� PHQFDNXS� WHUFLSWDQ\D� VXDVDQD�
NHKLGXSDQ�EHUDJDPD�\DQJ�SHQXK�NHLPDQDQ�GDQ�NHWDTZDDQ�WHUKDGDS�7XKDQ�<DQJ�
0DKD� (VD�� PHQLQJNDWNDQ� � DKODT� � PXOLD�� WHUZXMXGQ\D� � NHUXNXQDQ� � KLGXS� XPDW�
EHUDJDPD� � \DQJ� GLQDPLV� VHEDJDL� ODQGDVDQ� SHUVDWXDQ� GDQ� NHVDWXDQ� VHUWD�
PHQLQJNDWNDQ�SHUDQ�VHUWD�SHPEDQJXQDQ��
6HODLQ� � SHQJHORODDQ� � ]DNDW� WHUPDVXN� MXJD� LQIDT� GDQ� VKDGDTRK�� SHUOX� WHUXV�
GLWLQJNDWNDQ� DJDU� GDSDW� EHUKDVLO� JXQD� GDQ� EHUGD\D� JXQD� VHUWD� GDSDW�
GLSHUWDQJJXQJMDZDENDQ�� 7HQWXQ\D� SHQJHORODDQ� WHUVHEXW� KDUXV� DNXQWDEHO��
VHKLQJJD� RUJDQLVDVL� SHQJHORODQ\D� PHQMDGL� OHPEDJD� \DQJ� GLSHUFD\D� ROHK�
PDV\DUDNDW�OXDV��
8QWXN� GDSDW� PHPSRWHQVLNDQ� SHQJHORODDQ� ]DNDW�� LQIDT� GDQ� VKDGDTRK�� VHKLQJJD�
GDODP�SHODNVDQDDQQ\D�WHUDUDK�VHVXDL�GHQJDQ�WXMXDQ�GDODP�UDQJND�SHUOLQGXQJDQ��
SHPELQDDQ� � GDQ� SHOD\DQDQ� PX]DNNL�� PXVWDKLN� GDQ� DPLO� ]DNDW�� GLSHUOXNDQ�
SHQJDWXUDQ� GDODP� EHQWXN� 3HUDWXUDQ� 'DHUDK� WHQWDQJ� 3HQJHORODDQ� =DNDW�� ,QIDT�
GDQ� VKDGDTRK�� WHQWXQ\D� GLKDUDSNDQ� GDSDW� PHQLQJNDWNDQ� NHVDGDUDQ� PX]DNNL�
XQWXN�PHQXQDLNDQ�NHZDMLEDQ�]DNDW�GDODP�UDQJND�PHQ\XFLNDQ�GLUL�WHUKDGDS�KDUWD�
\DQJ�GLPLOLNL��PHQJDQJNDW��GHUDMDW��PXVWDKLN�GDQ�PHQLQJNDWQ\D�NHSURIHVLRQDODQ�
SHQJHOROD�]DNDW��\DQJ�VHPXDQ\D�XQWXN�PHQGDSDW�5LGKR�$OODK�6:7��

�
�

,,��3$6$/�«�
�



 �������

,,�� 3$6$/�'(0,�3$6$/�
%$%�,� %$%�,� 3DVDO��� �� &XNXS�-HODV�
%$%�,,� %$%�,,� 3DVDO��� �� &XNXS�-HODV�
� � 3DVDO��� �� &XNXS�-HODV�
%$%�,,,� %$%�,,,� 3DVDO��� �� &XNXS�-HODV�
� � 3DVDO��� �� &XNXS�-HODV�
� � 3DVDO��� �� &XNXS�-HODV�

%$%�,9� 3DVDO��� �� &XNXS�-HODV�
� � 3DVDO��� �� &XNXS�-HODV�
� � 3DVDO��� �� &XNXS�-HODV�

%$%�9� 3DVDO���� �� &XNXS�-HODV�
%$%�9,� 3DVDO���� �� &XNXS�-HODV�
%$%�9,,� 3DVDO���� �� &XNXS�-HODV�
� 3DVDO���� �� &XNXS�-HODV�
� 3DVDO���� �� &XNXS�-HODV�
%$%�9,,,� 3DVDO���� �� &XNXS�-HODV�
� � 3DVDO���� �� &XNXS�-HODV�
� 3DVDO���� �� &XNXS�-HODV�
%$%�,;� � 3DVDO���� �� &XNXS�-HODV�
%$%�;� � 3DVDO���� �� &XNXS�-HODV�
%$%�;,� � 3DVDO���� �� &XNXS�-HODV�
%$%�;,,�� 3DVDO���� �� &XNXS�-HODV�
%$%�;,,,� 3DVDO���� �� &XNXS�-HODV�
%$%�;,9�� 3DVDO���� �� &XNXS�-HODV�
%$%�;9� � 3DVDO���� �� &XNXS�-HODV�

� � 3DVDO���� �� &XNXS�-HODV�
�
7$0%$+$1�/(0%$5$1�'$(5$+�.27$�&,/(*21�7$+81������12025���

�


